| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

Q= I3
£
e 8
[~ o
0 N
o &
3
o 1
— © 5 ]
do 2
2
o £ o
g
17 H o
o € —
A4S & |
M 2
A
-4 g o
N 3
= !
T 5 :
9 H 1 I 5
) 4 S = 3 + 5
3 3 4 2
z| syoen ayeoydnp Oney
0 _ o
N ($2]
£
Jo o
ZW o
I Yo} N
— O
3
o
12 s
bS (Te]
Jdo o
I Yo}
! o
o —
£ .
LD
aea- 4= o
! I
: I h
R R
H L0 o
k) ! ]
— (=) =)
Syoes axey b
Q= Q
£
dos
2 o
...... o3 I\
3
s -Jo ]
= O |n o
s |8 =
-{wo g
2
Jo 8 o
. Jo |5
2 S
13 s |
] o
[t} 2
e £
T F N
o £ )
J_ S
Y al Loy [T I3
5 8 3 % 5P
3 K] S S 3
syoen z| syoen dhn
Lo o
o= (s2]
£ .
.............. Jo o
ZW o
LD N
o 3
3
i (=}
1M o
bS (Te]
Jdo o
{
o
o S —
£ 5 ]
LD
-{= b o
| @ N
=} = )
N 8
9 < [ I TN S
5 3 3 5 ) 3
syoen - dney ° 2l syoen °

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


